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Whatwdoes the mutation rate from the TipDate Manlysis mean?



Can | conclude positive selection if | found significantly higher dN/dS ratios for my branches









are in the folder paml and not in paml/src, | suggest that you move (mv on UNIX and move on
Windows) all the executables one level up into the paml folder.

mv baseml basemlg codeml evolver ..

mv pamp chi2 ..












codon models: For codon frequency modes F1x4, F3x4, and F61, the different codons have
different frequencies, which are estimated empirically from the sequence da



3) How much selection can be detected given the parameters of 1) and 2)?
The method seems able to identify one or two sites under strong selection. When more
sites are under selection but the pressure is weak, the LRT might say selected sites exist



How do | test positive selection along specific lineages?

Codonml (codeml with seqtype = 1) has a few models that assign and estimate different w (=






Yes, you use runmode = -2. The ML iteration is still slow, and each pairwise comparison takes
several seconds. Some people use yn0O for this purpose.

Why did | get duplicated w estimates when | used many categories under
M3?



et al. 1995) all involve such systematic biases. Ideally they should not be used as data to
construct statistical tests.

More comments due to a post at the PAML discussion group (#######Get the URL.). The






Why did I get this message: “1967 nucleotides, not a multiple of 3!?”
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